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@78.5(:1112 @ 62.8cm? ® 60.24cm?

@ 58.16cm? ® 50.24cm?

9] 4ol : 10+ 2 = 5(cm)
=

Ho] 1 5x5x3.14 = 78.5(cm?)
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® 5+2x3.14 @ 5+5x%x3.14 ® 5x3.14

@5><5><3.14 ® 10x3.14

49| wol
=T A 5)x (A & )x3.14
=5x5x3.14




4. 90 5d10] Fol7}188.4cm Q) U] WA O] Lol B emUi7H?

@ 10cm @ 15cm ® 20cm @ 25cm @300m

(99 E9) = 2x(9 2 €A E) x3.14
188.4 = 2x (¥9] ¥kA]E5)x3.14
kAl o] 9] 52 188.4 + 3.14 + 2 = 30( cm) YU Tt




HF2]50] 6 cm?l 9] YF+= A5l 8eml YO HF2] H wjdy7}?

© @ 19 ® 2
@13 ® 2L W)

B \

(HF2E°] 6 cmQl 9] ¥F)= 6 x 2 x 3.14 = 37.68(cm)
(Z&°] 8cm®Ql YOl ¥F) =8x%x3.14 = 25.12(cm)
3768 3

1
- = - - — — _ —1—_(nv
37.68 + 25.12 = 3768 + 2512 5512 2 12( H)




6. ThE FolA Holh P 2 A8 waAe,

O Y371 12.56 cmSl Y @ HrA]E©°] 1.75cm?l ¥
® Hol7k 12,56 cm? 1 & @ 9F7H15.7cm 9 9

@5}0]7} 28.26cm? ¢l &

gtz 52] do|& vl Fy .
== Ocme} 5IH

D ox2x3.14=1256,0=2cm

@ BtAE 1.75cm

@ oxox3.14 =12.56,0=2cm
@nox2x314=157,0=25cm
®ox0oOx3.14 =28.26,0=3cm
wreba] golrt 7 2 92 @YdYrth
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=] —
- --18cm- -~
@ 30.14cm @56.520111 3@ 62.8cm
@ 68.16cm ® 78.5cm

1
:(18x2x3.14)x71x2

= 56.52(cm)
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® #&°]5cm 1 € @ HrA]20] 4cm © Y
® ¥F7F12.56cm 1 € @ 7A20] gem < &
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W2 59 27171 & 5 49 Wolrt AR B R, §iA g9 271E
H| w3,

O ¥HA]& 2.5cm

@ ¥t2& 4cm

@ FHAE ¢ (WHA]5)x2 x 3.14 = 12.56

(BFA])5)= 12.56 + 6.28 = 2(cm)

@ WAE 3cm

® ¥t2]& 6cm

u2tA ® §o] 7P FYth







